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1. In short-run, AC, AVC and MC curves are

‘U’ shaped due to :

(A)
(B)
(©)
(D)

MRTS of inputs
Law of diminshing marginal return
Law of equimarginal return

Time comparison principle

2.  Cost calculated per quintal of product is

called :

(A)
(B)
(©)
(D)

Economic cost
Cost of cultivation
Cost of production

Opportunity cost

3. Diseconomies of scale refer to :

(A)

(B)

(©)

(D)

Larger output but with higher per

unit cost

Larger output associated with lower

per unit cost

Less output but with higher per unit

cost

None of the above
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Which of the following is second degree

function ?

(A)
(B)
(©)
(D)

Cobb-Douglas function
Quadratic function
Linear function

Cubic function

Inflection point in the production function

is the point where :

(A)

(B)

(®)

(D)

TPP changes its curvature.
Slope of production function is
maximum.

First derivative may not be zero, but

second derivative must be zero.

All of the above

Economic efficiency is denoted when

resources are used

in a manner to

maximize :

(A)
(B)
(©)
(D)

TPP

MVP

AVP

MiIC
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10.

As per the cost principle, in long-run, the
gross returns must cover :

(A) Variable costs

(B) Fixed costs

(C) Total costs

(D) Opportunity costs

As per the cost principle the maximum net
revenue is possible when :
(A) AC=AR

(B) MC=MR

(C) TC=TR

(D) Opportunity cost = Opportunity

return

Which of the following is a power

function ?

(A) Linear function

(B) Cobb-Douglas function
(C) Quadratic function

(D) None of the above

The period between cash outflow and cash

inflow in a project is called :

(A)
(B)
(©)
(D)
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Accounting period
Transformation period
Production period

Gestation period

(4)

11.

12.

13.

As per the cost principle, in short-run, the

farmer can continue the production

programme if :

(A) Selling price < AVC
(B) Selling price > AVC
(C) Selling price < AFC

(D) Selling price > AFC

The summation of elasticity of production

in a Cobb-Douglas production function

results in :

( A )
Aa) |22 - P

Lay, ) \py,)
B) AY,

AY,
(C) Zab
(D) =>u
In increasing return to scale, the gap
between  successive isoquants  with
increase in output :
(A) Remains same
(B) Increases
(C) Decreases
(D) None of the above
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14.  The scope of production economics is : 17. The concept of “Law of diminishing

(A) Microeconomic marginal utility” is given by :

(B) Intrafarm study (A) Keynes

(B) Adam Smith
(C) Interfarm study

(C) Robinson
(D) None of the above

(D) A. Marshall

15. The use of inputs which can be reshuffled
18. Variable cost of production changes :

in a production programme to produce
(A) with the change in quality of goods
same level of output are called :
produced

(A) Substitutes (B) with the change in quality of service

(B) Supplements produced

(C) Complements (C) with the change in quantity of

(D) Competitive substitute goods

(D) with the change in quantity of goods

16. If the capital can be used for a specific
produced

purpose but cannot be used for other

19. Isoresource curve is also known
alternatives, it is called :

as:

(A) Sunk Capital
(A) Production possibility curve

(B) Permanent Capital
(B) Isoquant curve

(C) Working Capital (C) Price line

(D) Allof the above (D) Product indifference curve
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20. A number of product indifference curve on 23.  For complementary enterprises, MRPS is :

the same graph is called : (A) Lessthan zero

: — B) Equal to zero
(A) Production possibility curve map (B) Ed

(C) Infinity
(B) Isoquant map
(D) Greater than zero
(C) Isorevenue map
24. For competitive enterprises, MRPS is :

(D) Product possibility curve
(A) Less than zero

21. In case of joint products, the production (B) Equal to one
possibility curve is : (C) Greater than one
(D) Infinity

(A) ‘L’ shaped

(8) Concave 25.  When two products substitute at constant

rate, it is better to produce :
(C) Inverted ‘L’ shaped

(A) One product only
(D) ‘U’ shaped

(B) Two products

22. In case of decreasing rate of product (C) Stop the production programme

substitute, the production possibility curve (D) None of the above

IS : 26. When two products have supplementary
relationship, it is better to produce :
(A) Convex shaped

(A) One product only
(B) Inverted ‘L’ shaped
(B) Two products
(C) Concave shaped .
(C) Stop the production programme

(D) U’ shaped (D) None of the above
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27. Product indifference curve is also known 31. Afarmisa/an:

as . (A) Technical Unit

(A) Production possibility curve (B) Industrial Unit

(B) Isoquant curve . .
(C) Economic Unit

(C) Isorevenue line
(D) None of the above
(D) Price line

. . 32. The shape of total cost curve is:
28. Family labour and hired labour are :

(A) Perfect complements (A) Rectangular hyperbola

(B) Perfect supplements (B) Convex
(C) Perfect substitutes (C) ‘U’ Shape
(D) None of the above (D) Cubical parabola
29. In case of perfect complement, the 33. In which case, the farmer should stop the
isoquant .
production programme permanently ?
IS :

(A) Loss<VC
(A) ‘L’ shaped

B) Loss<FC
(B) Inverted ‘L’ shaped (€)

(C) Concave (C) Loss>FC

(D) U’ shaped (D) Loss > Opportunity Cost
30. In case of perfect substitute, the isoquant 34. Elasticity of production is expressed
IS : as:
(A) ‘L’ shaped (A) Index
(B) Inverted ‘L’ shaped (B) Percentage
(C) U’ shaped (C) Quintal
(D) A straight line (D) No units
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35. Resource allocation is
with :

(A) Product-Product Relationship
(B) Factor-Factor Relationship

(C) Both (A) and (B)

(D) None of the above

36. Agro-Economic Research Centre (AERC)

in Uttar Pradesh is located at :

(A) Agra

(B) Gorakhpur

(C) Lucknow

(D) Prayagraj

37. Profit maximizing level of
IS :
(A) MC=MR

(B) MRPS=PR

(C) MVP=MIC

(D) MRTS =PR

AGECON-5004

concerned

input

(8)

Which of the following formulae of yield

gap is correct ?

(A)

(B)

(®)

(D)

(Potential Yield — Actual Yield) /
Potential Yield
(Potential Yield + Actual Yield) /
Potential Yield

Potential Yield T Actual Yield y

100
Potential Yield

Potential Yield = Actual Yield o

100
Potential Yield

Economies of scale means :

(A)
(B)
(©)
(D)

Reduction in unit cost of distribution
Reduction in unit cost of production

Reduction in total cost of production
Reduction in total cost of

distribution

Net returns plus expenses are called :

(A)
(B)
(©)
(D)

Total expenses
Total returns
Both (A) and (B)

Gross returns
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41. Diminishing return occurs when a firm :

(A)
(B)

(©)

(D)

Indiscriminately uses all the inputs

Indiscriminately uses one input
keeping other inputs constant
Indiscriminately uses other inputs
keeping one input level constant

Does not use the inputs efficiently

42. When APP is maximum, the ratio of

output to input is maximum because :

(A)
(B)
(©)
(D)

MPP is maximum
APP < MPP
APP = MPP

APP > MPP

43. The marginal cost can be derived from :

(A)
(B)
(©)
(D)

Total Fixed Cost
Total Variable Cost
TVC butnot TC
Both TVC and TC

44. Least cost combination will be where :

(A)

(B)

(©)

(D)
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Ax, _ PX,
AX, PX,
AX, _ PX,
Ax, PX,
AX, _ PX,
Ax P X

None of the above

(9)

45.

46.

47.

48.

Principle of added cost and added return

will be used to know :

(A)
(B)
(©)
(D)

Level of output
Level of input
Price of input

Price of output

If factor substitution ratio is more than

their price ratio, then cost will be :

(A)
(B)
(®)
(D)

What

Increasing
Decreasing
Maximum

Minimum

happens to AVC, when AFC

decreases ?

(A)

(B)

(©)
(D)

AVC first increases and then
decreases.
AVC first decreases and then
increases.

AVC cuts MC at lowest point.
AVC cuts MC at highest point.

In lind stage of production function, TPP

increases at decreasing rate. What will be
the nature of MPP ?

(A)

(B)
(©)
(D)

MPP continues to decrease and
becomes zero.

MPP is maximum.

MPP increases at increasing rate.
MPP increases and finally becomes

Zero.
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49. Isoquant touches the axes in case of : 53. Net worth statement is prepared for the :

(A) Cobb-Douglas function (A) Farmer
(B) Exponential function (B) Business
(C) Quadratic function (C) Agriculture farm

(D) None of the above (D) Both (B) and (C)

50. Production is a function of : 54.  Implicit cost example is -

(A) Fertilizer

(A) Cost

(B) Price (B) Pesticides
|

(C) Profit (C) Farm family labour
rofi

(D) Causal labour
(D) Factors

55. When the prices of both the resources
51. At Break-Even Point (BEP) in a farm
increase, price line moves :

business :
(A) Closer to origin
(A) FC=VC
(B) Away from origin
(B) MC=MR
(C) Remains at the same level
(C) TC=TR

(D) None of the above

(D) All of the above
56. If the production possibility curve is

52. Fixed cost is also known as : horizontal, the two goods are :

(A) Marginal cost (A) Complementary
(B) Prime cost (B) Substitutes

(C) Opportunity cost (C) Unrelated

(D) Overhead cost (D) None of the above
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57. Machinery and land are the examples for : 59.

(A) Stock resource
(B) Flow resource
(C) Both (A) and (B)

(D) None of the above

58. Both factors are varying in :

(A) Factor-Product Relationship

60.

(B) Factor-Factor Relationship
(C) Product-Product Relationship

(D) None of the above
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The total fixed cost curve is :

(A) Move away from origin with
increase in output

(B) Rectangular hyperbola in shape

(C) Move towards origin with increase
in output

(D) Remains constant at all output levels

Prime cost is also known as :

(A) Marginal cost
(B) Variable cost
(C) Opportunity cost

(D) Overhead cost
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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